

First Myanmar Investment Public Co., Ltd. (FMI)

Market Summary

In August 2024, FMI's share price ranged between 8800 kyats and 9200 kyats. This range marks an increase from the previous month, when prices were between 8,500 kyats and 9,000 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a decline this month compared to the previous one. The total trading

	Jul 2024	Aug 2024
Lowest Price	8,500	8,800
Highest Price	9,000	9,200
Trading Volume	16,300	12,915
Trading Value	143,218,200	115,398,300

volume reached 12,915 shares with a trading value of 115,398,300 kyats.

Myanmar Thilawa SEZ Holdings Public Co. Ltd. (MTSH)

Update News

Release of Annual Report for FY 2023-24

MTSH released its annual report for FY 2023-24. According to its annual report, Myanmar-Japan Thilawa Development Ltd (MJTD) is currently implementing the deployment of solar photovoltaic (PV) system to generate electricity, aiming to reduce the dependance on fossil fuel and enhance renewable energy production. The initiative is projected to add 5 megawatts (MW) of electrical capacity. In Thilawa Garden City, solar power project (47.5 KWp) is installed by Thilawa Property Development (TPD) with grid tied system. Thilawa Property Development (TPD) is also preparing to develop "MSME Commercial Hub" project which makes progress toward the development of Micro, Small, Medium Enterprise (MSME) within Thilawa Special Economic Zone.

In FY 2023-24, MTSH achieved a revenue of 3.6 billion kyats, with a gross profit of 2.3 billion kyats and a net profit of 1.3 billion kyats. The earnings per share (EPS) for MTSH stands at 34 kyats, while the company will distribute a dividend of 50 kyats per share for FY 2023-24.

11th Annual General Meeting Announcement

MTSH will hold its 11th Annual General Meeting online on 20 September 2024, at 10:00 AM via zoom.

Market Summary

In August 2024, MTSH's share price ranged between 3300 kyats and 3600 kyats. This range marks a slight increase from the previous month, when prices were between 3300 kyats and 3550 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a significant rise this

	Jul 2024	Aug 2024
Lowest Price	3,300	3,300
Highest Price	3,550	3,600
Trading Volume	113,640	799,100
Trading Value	390,028,550	2,762,141,950

month compared to the previous one. The total trading volume reached 799,100 shares with a trading value of 2,762,141,950 kyats.



Myanmar Citizens Bank Ltd. (MCB)

Update News

Notice of Record Date and Ex-Date for FY 2023-2024

MCB bank's last day to trade and record date are as follows:

Last day to trade	21 Aug 2024
Ex-dividend date	22 Aug 2024
Record date	26 Aug 2024

Market Summary

In August 2024, MCB's share price ranged between 8300 kyats and 9000 kyats. This range marks an increase from the previous month, when prices were between 8100 kyats and 8400 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a slight decrease this

	Jul 2024	Aug 2024
Lowest Price	8,100	8,300
Highest Price	8,400	9,000
Trading Volume	3,532	2,969
Trading Value	28,784,000	25,403,800

month compared to the previous one. The total trading volume reached 2,969 shares with a trading value of 25,403,800 kyats.

First Private Bank Ltd. (FPB)

Market Summary

In August 2024, FPB's share price ranged between 1750 kyats and 1850 kyats. This range marks a slight increase from the previous month, when prices were between 1650 kyats and 1800 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced an increase this month compared to the previous one. The total trading

	Jul 2024	Aug 2024
Lowest Price	1,650	1,750
Highest Price	1,800	1,850
Trading Volume	114,481	148,459
Trading Value	195,105,250	266,370,350

volume reached 148,459 shares with a trading value of 266,370,350 kyats.



TMH Telecom Public Co., Ltd. (TMH)

Update News

Release of Annual Report for FY 2023-24

In FY 2023-24, TMH reported a revenue of 7.2 billion kyats, reflecting a substantial 69% increase from the previous year. The company achieved a gross profit of 2.1 billion kyats and a net profit of 183 million kyats, marking an 8% year-over-year growth. The earnings per share (EPS) for TMH are 14 kyats for FY 2023-24.

Invitation of 7th Annual General Meeting

TMH will hold its 7th Annual General Meeting online on 15 September 2024, at 10:00 AM via zoom.

Market Summary

In August 2024, TMH's share price ranged between 2750 kyats and 2950 kyats. This range marks a slight increase from the previous month, when prices were between 2700 kyats and 2900 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a significant rise this

	Jul 2024	Aug 2024
Lowest Price	2,700	2,750
Highest Price	2,900	2,950
Trading Volume	3,244	7,471
Trading Value	8,989,450	20,902,300

month compared to the previous one. The total trading volume reached 7,471 shares with a trading value of 20,902,300 kyats.

Ever Flow River Group Public Co., Ltd. (EFR)

Update News

Resolutions passed at the 8th Annual General Meeting

EFR held its 8th Annual General Meeting on 7 August 2024. During the meeting, shareholders approved the audited financial statements, the director's report, the re-election of directors, and the appointment of the audit firm for the upcoming financial year.

Market Summary

In August 2024, EFR's share price ranged between 1700 kyats and 1800 kyats. This range marks a decline from the previous month, when prices were between 1650 kyats and 1950 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a slight fall this month compared to the previous one. The total trading

	Jul 2024	Aug 2024
Lowest Price	1,650	1,700
Highest Price	1,950	1,800
Trading Volume	25,579	21,758
Trading Value	44,487,050	37,542,200

volume reached 21,758 shares with a trading value of 37,542,200 kyats.



Amata Holding Public Co., Ltd. (AMATA)

Market Summary

In August 2024, AMATA's share price ranged between 4500 kyats and 4700 kyats. This range marks a slight decrease from the previous month, when prices were between 4100 kyats and 5000 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a slight rise this month

	Jul 2024	Aug 2024
Lowest Price	4,100	4,500
Highest Price	5,000	4,700
Trading Volume	4,100	4,733
Trading Value	19,014,400	21,766,500

compared to the previous one. The total trading volume reached 4,733 shares with a trading value of 21,766,500 kyats.

Myanmar Agro Exchange Public Co., Ltd. (MAEX)

Update News

Release of Annual Report for FY 2023-24

In FY 2023-24, a total of 48.5 new shophouses were sold, marking a 361% increase compared to the 10.5 shophouses sold in the previous year.

In FY 2023-24, MAEX achieved a revenue of 24.3 billion kyats, with a gross profit of 12.3 billion kyats and a net profit of 5.7 billion kyats. The earnings per share (EPS) for MAEX stands at 241 kyats, while the company will distribute a dividend of 200 kyats per share for FY 2023-24.

Resolutions passed at 8th Annual General Meeting held on 27th August 2024

MAEX held its 8th Annual General Meeting on 27th August 2024. During the meeting, shareholders approved Director Report, Financial Statement, Audit Report, dividend distribution of 200 kyats per share and re-election and appointment of directors.

Market Summary

In August 2024, MAEX's share price ranged between 3200 kyats and 3500 kyats. This range marks a fall from the previous month, when prices were between 3400 kyats and 3750 kyats.

Trading activity on the Yangon Stock Exchange (YSX) also experienced a fall this month compared to the previous one. The total trading volume

	Jul 2024	Aug 2024
Lowest Price	3,400	3,200
Highest Price	3,750	3,500
Trading Volume	40,131	32,984
Trading Value	144,528,850	108,932,000

reached 32,984 shares with a trading value of 108,932,000 kyats.



Myanma Agricultural & General Development Public Co., Ltd (MADPL)

Update News

Release of Unaudited Financial Statements for the year ended 31st March 2024

In FY 2023-24, MADPL achieved a revenue of 4.4 billion kyats, with a gross profit of 37 million kyats and a net profit of 359 million kyats.

Release of supplemental documents for registration

MADPL has released the Market Value Assessment Report for registration on August 14, 2024.

Market Summary

In August 2024, MADPL's share price ranged between 20,500 kyats and 36,500 kyats.

Trading activity on the Yangon Stock Exchange (YSX) are as follow: the total trading volume was 1,609 shares with a trading value of 44,025,500 kyats.

	Jul 2024	Aug 2024
Lowest Price	-	20,500
Highest Price	-	36,500
Trading Volume	-	1,609
Trading Value	_	44.025.500



Changes In Daily Return

%	Change or	Daily Retu	urn (FMI)						
D-4-	0	III-L		Close	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
21-Aug-24	8,900	9,000	8,900	9,000	380	3,388,200	33,109,694	297,987	
22-Aug-24	8,900	8,900	8,900	8,900	758	6,746,200	33,109,694	294,676	-196
23-Aug-24	8,900	9,000	8,900	8,900	622	5,546,300	33,109,694	294,676	O96
26-Aug-24	8,900	9,000	8,900	8,900	531	4,734,300	33,109,694	294,676	O96
27-Aug-24	8,900	8,900	8,900	8,900	311	2,767,900	33,109,694	294,676	O96
28-Aug-24	8,900	8,900	8,900	8,900	257	2,287,300	33,109,694	294,676	O96
29-Aug-24	8,900	8,900	8,900	8,900	245	2,180,500	33,109,694	294,676	O96
30-Aug-24	8,900	8,900	8,900	8,900	177	1,575,300	33,109,694	294,676	096

%0	hange or l	Daily Retur	rn (MTSH))					
	_			6.	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
21-Aug-24	3,500	3,550	3,500	3,550	1,095	3,837,550	38,929,150	138,199	
22-Aug-24	3,550	3,550	3,450	3,500	156	540,100	38,929,150	136,252	-196
23-Aug-24	3,450	3,500	3,450	3,500	718	2,493,350	38,929,150	136,252	0%
26-Aug-24	3,450	3,550	3,450	3,550	3,704	12,953,000	38,929,150	138,199	196
27-Aug-24	3,550	3,550	3,500	3,500	776	2,743,450	38,929,150	136,252	-196
28-Aug-24	3,500	3,550	3,450	3,550	5,038	17,614,750	38,929,150	138,199	196
29-Aug-24	3,500	3,550	3,500	3,550	1,594	5,581,250	38,929,150	138,199	0%
30-Aug-24	3,500	3,500	3,450	3,500	3,953	13,685,500	38,929,150	136,252	-1%

%(Change or	Daily Retu	ırn (MCB)						
Date	Open	High	Low	Close	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	орен	riigii	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
21-Aug-24	8,500	8,500	8,500	8,500	0	0	10,400,986	88,408	
22-Aug-24	8,500	8,500	8,500	8,500	161	1,368,500	10,400,986	88,408	O96
23-Aug-24	8,500	8,900	8,500	8,900	19	161,900	10,400,986	92,569	596
26-Aug-24	9,000	9,000	9,000	9,000	4	36,000	10,400,986	93,609	196
27-Aug-24	9,000	9,000	9,000	9,000	5	45,000	10,400,986	93,609	O96
28-Aug-24	8,900	8,900	8,900	8,900	11	97,900	10,400,986	92,569	-196
29-Aug-24	8,900	8,900	8,900	8,900	0	0	10,400,986	92,569	O96
30-Aug-24	9,000	9,000	9,000	9,000	15	135,000	10,400,986	93,609	196



%	6Change or	Daily Retu	ırn (FPB)						
Data	0	II:-L	Levi	Close	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
21-Aug-24	1,800	1,800	1,800	1,800	132	237,600	29,664,613	53,396	
22-Aug-24	1,800	1,800	1,800	1,800	10	18,000	29,664,613	53,396	O96
23-Aug-24	1,800	1,850	1,800	1,850	5,305	9,549,050	29,664,613	54,880	3%
26-Aug-24	1,850	1,850	1,800	1,800	185	340,500	29,664,613	53,396	-3%
27-Aug-24	1,750	1,750	1,750	1,750	3,300	5,775,000	29,664,613	51,913	-3%
28-Aug-24	1,750	1,800	1,750	1,750	1,668	2,919,050	29,664,613	51,913	O96
29-Aug-24	1,800	1,800	1,800	1,800	4	7,200	29,664,613	53,396	3%
30-Aug-24	1,750	1,800	1,750	1,750	11,132	19,931,650	29,664,613	51,913	-3%

%(Change or	Daily Retu	rn (TMH)						
Date	Open	High	Low	Close	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	підп	Low	ciose	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
21-Aug-24	2,850	2,850	2,800	2,800	578	1,623,400	12,823,224	35,905	
22-Aug-24	2,800	2,800	2,800	2,800	398	1,114,400	12,823,224	35,905	O96
23-Aug-24	2,800	2,800	2,800	2,800	958	2,682,400	12,823,224	35,905	O96
26-Aug-24	2,800	2,800	2,800	2,800	0	0	12,823,224	35,905	O96
27-Aug-24	2,800	2,800	2,800	2,800	712	1,993,600	12,823,224	35,905	O96
28-Aug-24	2,800	2,800	2,800	2,800	1,037	2,903,600	12,823,224	35,905	O96
29-Aug-24	2,800	2,800	2,800	2,800	957	2,679,600	12,823,224	35,905	O96
30-Aug-24	2,800	2,800	2,800	2,800	657	1,839,600	12,823,224	35,905	O96

%	Change or	Daily Retu	ırn (EFR)						
	_			61	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]
21-Aug-24	1,750	1,750	1,700	1,750	1,230	2,102,500	19,977,223	34,960	
22-Aug-24	1,700	1,750	1,700	1,750	814	1,384,600	19,977,223	34,960	096
23-Aug-24	1,750	1,750	1,750	1,750	308	539,000	19,977,223	34,960	096
26-Aug-24	1,750	1,750	1,700	1,750	1,364	2,361,000	19,977,223	34,960	O96
27-Aug-24	1,750	1,750	1,700	1,700	1,506	2,602,450	19,977,223	33,961	-3%
28-Aug-24	1,700	1,750	1,700	1,700	1,704	2,904,800	19,977,223	33,961	O96
29-Aug-24	1,700	1,750	1,700	1,750	1,977	3,366,750	19,977,223	34,960	3%
30-Aug-24	1,750	1,750	1,700	1,700	1,019	1,735,900	19,977,223	33,961	-3%



%Cl	hange or D	aily Return	n (AMATA							
Date	0	High	Low	Close	Trading volume	Trading value	No. of listed	Market Cap.	Changes	
Date	Open	nign	LOW	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily Return]	
21-Aug-24	4,600	4,600	4,600	4,600	0	0	10,497,598	48,289		
22-Aug-24	4,600	4,600	4,600	4,600	237	1,090,200	10,497,598	48,289	O96	
23-Aug-24	4,600	4,600	4,600	4,600	221	1,016,600	10,497,598	48,289	O96	
26-Aug-24	4,600	4,600	4,600	4,600	255	1,173,000	10,497,598	48,289	O96	
27-Aug-24	4,600	4,600	4,600	4,600	241	1,108,600	10,497,598	48,289	O96	
28-Aug-24	4,600	4,600	4,600	4,600	322	1,481,200	10,497,598	48,289	O96	
29-Aug-24	4,600	4,600	4,600	4,600	217	998,200	10,497,598	48,289	O96	
30-Aug-24	4,600	4,600	4,600	4,600	317	1,458,200	10,497,598	48,289	O96	

%C	hange or	Daily Retur	m (MAEX)					
Data	0	III-L	1	Class	Trading volume	Trading value	No. of listed	Market Cap.	Changes
Date	Open	High	Low	Close	(shares)	(MMK)	Shares	(mil MMK)	[Daily
									Return]
21-Aug-24	3,250	3,250	3,200	3,250	2,471	8,027,150	23,804,946	77,366	
22-Aug-24	3,250	3,400	3,250	3,400	723	2,355,150	23,804,946	80,937	5%
23-Aug-24	3,400	3,400	3,400	3,400	1	3,400	23,804,946	80,937	O96
26-Aug-24	3,300	3,300	3,300	3,300	662	2,184,600	23,804,946	78,556	-3%
27-Aug-24	3,300	3,350	3,300	3,350	655	2,161,850	23,804,946	79,747	296
28-Aug-24	3,350	3,350	3,300	3,350	756	2,507,600	23,804,946	79,747	O96
29-Aug-24	3,350	3,400	3,350	3,350	996	3,337,100	23,804,946	79,747	O96
30-Aug-24	3,350	3,350	3,300	3,300	3,652	12,084,200	23,804,946	78,556	-1%

					.)	n (MADPL	Daily Retur	hange or I	%C
Changes	Market Cap.	No. of listed	Trading value	Trading volume	Close	Low	Ui-b	0000	Date
[Daily Return]	(mil MMK)	Shares	(MMK)	(shares)	ciose	Low	High	Open	Date
	35,211	1,006,035	5,565,000	159	35,000	35,000	35,000	35,000	21-Aug-24
3%	36,217	1,006,035	539,500	15	36,000	35,500	36,000	35,500	22-Aug-24
-3%	35,211	1,006,035	970,000	27	35,000	35,000	36,000	36,000	23-Aug-24
1%	35,714	1,006,035	816,500	23	35,500	35,500	35,500	35,500	26-Aug-24
O96	35,714	1,006,035	1,379,500	39	35,500	35,000	35,500	35,000	27-Aug-24
O96	35,714	1,006,035	0	0	35,500	35,500	35,500	35,500	28-Aug-24
196	36,217	1,006,035	3,528,000	98	36,000	36,000	36,000	36,000	29-Aug-24
196	36,720	1,006,035	2,968,000	82	36,500	36,000	36,500	36,000	30-Aug-24